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Assam Chief Minister Himanta Biswa Sarma inaugurated
Northeast India's first compressed biogas plant project at
Sonapur in Kamrup district of Assam on 26 February 2023.
The production capacity of this plant will be five tonnes per
day compressed biogas, which will be used as raw material.
For example cow dung will be produced from municipal solid
waste etc.
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Union MoS Science & Technology Dr Jitendra Singh
inaugurated the 'International Biotech Conclave' in Imphal,
Manipur on 25 February 2023. It is organized along with
22nd Congress of International Society for Ethno-
Pharmacology and 10th Congress of Society for Ethno-
Pharmacology | went.
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NMDC has appointed world boxing champion and gold
medalist Nikhat Zareen as its brand ambassador for the
Birmingham 2022 Commonwealth Games. She also won the
gold medal at the Women's Boxing World Championships on
May 20, 2022 in Istanbul, Turkey.
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India signed a Comprehensive Migration and Mobility
Partnership Agreement with Austria. It has similar
agreements with France, UK, Germany and Finland.
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People for the Ethical Treatment of Animals (PETA) India in
association with award-winning actress Parvathy Thiruvothu
organized the 'Nadayiruthal' ceremony of 'lrinjadappilly
Raman’, a robotic elephant at Irinjadappilly Sree Krishna
Temple.
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President Draupadi Murmu addressed the 31st Foundation
Day of the National Commission for Women on 31 January
2023 in New Delhi. The theme aims to celebrate the success
of women who have excelled in their journey of life and left
an indelible mark.
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The 205th anniversary of the Battle of Koregaon Bhima was
celebrated on 1 January 2023. The Battle of Bhima Koregaon

took place on 1 January 1818 between Peshwa Bajirao Il and
Captain F.K. F. It was fought between the British army under
the leadership of Staunton.
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x+2=0
x=-2
Alq x%+5kc+k+5=0
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(k-1) (k=9)=0
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CP; : CP,= (100 + 19) : (100 -15)

119:85=7:5
CP, = 112x480=?280
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Ques 90. ANS (C) Solution:

 5+8+2+6+9+15+12+18

| 8
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sinA + sin?A=1
sinA=1-sin?A = cos?A
f F7 W
sin?A = cos? A
1- cos?A = cos?A
[cgs"A +cos2 A = ﬂ
Ques 93. ANS (B) Solution:

= 3x(82+ax8+
= 192 + 8a +
196 +

NN
l o0

Yl
&

O T T T

a ¥

Ques 94. ANS (B) Solution:
K A
T-> 8 12
E—-
total work = 24unit
5 x 4 = 20 unit
WU ™ = 4 unit
Y F FH B A% WY H9 =4 -3 = 1 unit

total time = (2-x4)+1+%= 9%h
#a: &4 6 : 30 pm A ™ B

Ques 95. ANS (D) Solution:

r= ,’2_h2

- Jae - (3v&3)

= J356-207 = V& =7
UE B THTR F aAed = murl

=?7E x 7 x 16 = 352 cm?

Ques 96. ANS (A) Solution: T8 GUS 3T I WY g
Ques 97. ANS (A) Solution:

Ry F A edeRai el i gem=5+3=8

~ 6 <8< 10 T fAYNT B U4 C & A&

Ques 98. ANS (D) Solution:

U fUTT G H SHHaTal &) T=T = 8

faumT B A wraRTi Bl Tem = 6

Ques 99. ANS (B) Solution:

R R
el BY 1+_z_)
A'P( +100] [ 100

20240 [Hio—) (Hls—)
- =*1" " 100 100

110 115

100 * 100

— 20240 x 10000 = 16000

110x115 = ¥

Ques 100. ANS (D) Solution:
ac-bP=(a-b*+3abla-b

=(2P+3x15x2

=8+90=98

= 20240 = x x




